EARAROBEEIERT — 2 N— IBISH —F

2013%8A 110 (B) 3EIZEE6H

mﬂa% 3Lt 500ATF (RA) ©E \ [X] % \ [REmE] - | 4 (&) 17000 &
[A&4£] 1 7% :7,200,000 @ 23 :2,900,000 @ 33 :1,800,000 . 43 :1,100,000 @ 5 j& :720,000 M
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
. . REKAIE 146. -9-8- . . FHEE (ER)
ilglslexs 75—k o4 e 1(4_6)5 8-9-8-2 |37.2| 94.4 | 6 (436) %ﬂ;ﬁﬁﬂ
LixiAq/o— Bvivo—-v>r MHE EE
S O S HEILFE 146. 20— . . FEE (EH)
5 glonn—L1vay H o4 wli 1(14/62>6 2-2-2-1 |37.8( 93.5 | 1 ?é;‘ ;g’ééﬁj—
LBATAT v — By X by Tq (B) #HAEaA-FKL—Ya>AE77
N SN t 5 | FIAtR 1:46.6 3-3-3-4 |37.6| 93.5 | 7 500 | EIUERI (EH)
3 2| ®IAETI-NT =~ * 57.0 (75%) G2) | B) EvTLyRTr—4
L:d—IRAaqfO— B:17xE LT« it Fk
. 44 | ABEZFN 1:46.8 8-7-6-5 |37.6| 91.7 | 3 408 | /MN\EFEA (ER)
4|55 |FTVERIT =2 57.0 (' 1/4) 6 | 0 *—=23
R:VPRYTYZAIR B RAN-—HYI -2 [Ea=Fier]
. - A :47. —5-6- . . KER— (ERH
5 6| PTG 7 [B) 3 i 1(447)5 5-5-6-5 |38.3| 85.6 | 4 32) :qaﬁsv'}v—&‘/’f
L:xa—-YriO0-x B:H¥FT1T4IX FAE AKX
= o 3 | Sl 1:47.7 6-5-5-5 |38.6| 84.0 | 2 552 | RBEF (RR)
6l1]1| M7>¥LaRxe— [B] 54.0 (1 1/2) © lt(E) Oy h77—L4
Qi —I>TLL B:X2—/SL—FK (/) HEa-KL—Y3> AET7
= — FARZ . —7-8- AHE (EX)
. 4| @5T ko t—u o4 Ema 1.(417>.9 6-7-8-9 |38.6| 82.3 | 8 12(6);3 Eﬁf%a(
RiRAEZNTYT B TIAN—bEA L FE%%
3. & # 3 | ZHE 1:49.3 1-1-1-2 [ 40.5| 72.3 | 9 498 | EfER (E#)
g|8lg|IvF-INFT 54.0 © Gy |FEASE
B4 TATv— BIILRS EStae]
Sav UL %32 — —3-3- - - FHhE— (EXR)
xx|7|7| bIAHIET 3> [B] s 4.0 (h1k) 5 ° :j; PIFSIERI
R:d—IWRF7Ya2—Ib B:hIh1T70> EENSG
@ 71 L
) 50.6-37.7
NA> 24 L | 7.0-10.6-12.4-12.9-13.0-12.9-12.7-12.2-12.8
@ 1—F—@&BIEf
13=7r= 9,3(2,7)6(1,4) (5,8)
20—+ — 9,3(2,7) (1,6) (5,4)8
S=57= (x9,3) (2,7)1(5,6) (4,8)
43—+ — (9,%3,8)2(5,1,7,6)4
[ RN
BB 8 1,340 714K 3-8 790M e & 3-8 1,900 &R 2-3-8 7,410
8 B 8 350M9 2-8 1,930M B & 3-8 2,640M 3B 8-3-2 54,870
3 160/ 2-3 660 B H 8-3 7,070M
2 330H

ABICOVWTRDTEEERROODE. TR LIV,




